
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5) Doplň otázky. Použij slova z rámečku.  

 
 
 

 

 

1-....................... two cinemas in the city? Yes, there are. 

2-.......................schools are there in the city? There are 

three. 

3-.......................is the zoo? It is opposite the museum. 

4-......................  a car park? Yes, there is. 

5-...................... can you do in the library? I can read books. 

6-.....................does the father work? He works in the zoo. 

7-..................... a theatre in the city? No, there isn´t.  

8-....................  the city noisy? No, it isn´t.  

 

 

 

 

 

 

4) Doplň věty, použij slova z rámečku. 

 

 

 

 

 

My city is ..............and................There is a................next to the 

museum. My father works there. He is the ................... I love 

animals.. My favourite animal is the .....................There are 

three.................. in my city. My school is ...............the library.  

............the afternoon, .......... go to the library. There are 

interesting books to............... 

My mother does the shopping in the.................. The 

supermarket is next to the.................... 

 
3) Přečti si věty a přiřaď je ke 

slovům.  
 

1- You can see animals here. 

2-Kids learn subjects here. 

3-You can buy toys here. 

4-You can buy food here. 

5-You can borrow books here. 

6-Kids play here. 

7- You can see films here. 
 

A-park 

B-supermarket 

C-library 

D-toy shop 

E-zoo 

F-school 

G-cinema 

COMPLETE THE SENTENCES USING 

THE PREPOSITIONS OF PLACE 

 

OPPOSITE – NEXT TO – BEHIND –  

BETWEEN - NEAR 

 

1-THE SCHOOL IS ………………….THE PARK 

2-THE CINEMA IS ………………….THE 

SUPERMARKET AND THE TOY SHOP 

3-THE TOY SHOP IS ………………………THE 

SCHOOL. 

4-THE ZOO IS ………………………THE 

MUSEUM 

5-THE CAR PARK IS …………………THE 

SUPERMARKET 

6- THE TOY SHOP IS……………………….THE 

SUPERMARKET 

1) Podívej se na obrázek, oprav věty, 

které nesouhlasí. 

 

1- The park is between the school 

and the cinema. 

2- The toy shop is next to the 

library.  

3– There are four cars next to the 

supermarket. 

4–There are two lions in the zoo.  

5- There are two parks in the city.  

6- The zoo is opposite the museum.  

ZOO-OPPOSITE – SCHOOLS – SMALL – IN – I –READ – IN 

SUPERMARKET – QUIET – GIRAFFE – ZOOKEEPER –CAR PARK 

WHERE(2)  IS THERE(2)  WHAT    

 

HOW MANY   IS      ARE THERE 

 

2) Doplň do vět předložky.  
 

OPPOSITE – NEXT TO - BETWEEN  

 

1- The school is ………………… the park. 

2- The cinema ………………… the 

supermarket and the toy shop. 

3-The toy shop is ………………………the 

school. 

4-The zoo is ………………………the 

museum. 

5-The car park is ………………… the 

supermarket. 

6- The toy shop is……………………… the 

supermarket. 

 



Správné odpovědi 

 

Cvičení 1 

1 ok 

2 The toy shop is next to the cinema. 

3 There are three cars next to the supermarket. 

4 There is one lion in the zoo.  

5 ok  

6 ok 

 

Cvičení 2 

1 next to 

2 between 

3 opposite 

4 opposite 

5 next to 

6 opposite 

 

Cvičení 3 

1e, 2f, 3d, 4b, 5c, 6a, 7g 

 

Cvičení 4 

Small – quiet – zoo – zookeeper – giraffe- schools – opposite – in – I – read – supermarket – 

car park 

 

Cvičení 5 

1 Are there 

2 How many 

3 Where 

4 Is there 

5 What 

6 Where 

7 Is there 

8 Is 

 

 

 


